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0y



10. for gefem -

AT h

() ST (b) 3t

(c) e (d) sregada
FIR—(¢)
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SIR—(d)

UG & R © A qF TS 1 3ME B B 918 3, A
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FAR—(c)
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Wus-B (31e)

26. Fillin the blank with most appropriate word which
will suit the context of the sentence.
Sumanth's birthday is ..... next Sunday.
(@) In (b) At
(c)On (d) For
FAR—(c)

30. Choose the MISSPELT word.
(a) Government (b) Device
(c) Foreign (d) Decieve
SIR—(d)

o fadeat # eres fadey (d) ‘Decieve’ & aat TgE
Bl 3B g TN 8RN - 'Deceive ' (eram <1, fwarrema
BT, B BN

R<p = | Preposition 'on' &1 T 3fed R

27. Choose from the four options, the word that
best defines/substitutes the given phrase.
“Science of plants”
(a) Zoology (b) Geology
(c) Anthropology (d) Botany

IR—(d)

T1eal Uq aafdl (plant) @ I aeRAfa fasme
(Botany) & Sfcia fbam <irenm B 310 sl &l aread
B T -

Zoology - 1= farsi

Geology - fas, ¥4 2

31. Identify the CORRECTLY spelt word.
(a) Absense (b) Descent
(c) Apparant (d) Attendence
SIR—(b)

oI fdden # vreg faded (b) ‘Descent’ (3TaRIE, SR,
IaTS, der, U, 1, TaM) A Al gg Bl e
w1ea (311 ad a19) ) 2 adA e -
Absence - TR-gIFOR], SR, raH=Ra
Apparent - JARAAD, b, T, A, UcIel
Attendance - SIRIfQ, A, 4T, Tgod

Anthropology - Jfdsi

28. Fillin the blank with most appropriate word which
will suit the context of the sentence.
Senthil is the best .............. all the other players.
(a) Into (b) Among
(c) Below (d) Under

SR—(b)

Rh %I # Preposition 'among' &1 7N 3fd Bl 96
g1 IR Py Raerfsat & 7=l B 3L g, 31d: T8t 'among'
BT AT BT ATRUI 'between' B TN ‘) ARBAT AT
W@%WWW%H@ ‘among’ B TANT ST A
31feres Rl srerar axgeit & forg, SN -

The money was divided between my two sons.

The money was divided among my three sons

29. Choose the best antonym of the given word from
the options given below.
BUSY
(a) Active (b) Idle
(c) Lively (d) Working
SuR—(b)

32. In the following question, the given sentence
has four parts marked P, Q, R and S. Choose
the part of sentence with the error and mark
as your answer. If there is no error, mark ‘No
error (S)’ as your answer.

Power management company Eaton has
inaugurated (P)/ its India Innovation
Centre(Q)/ at Magarpatta City in Pune. (R)/
No error (S)

@@P b)Q

©R @S

FR—(d)
arga | BIg Ffe T R

33. Choose the option which best expresses the
meaning of the idiom/phrase given below. “To
play with fire”

(a) To act in a way that is not sensible and take
dangerous risks
(b) Playing in fire
(c) Asituation of failure
(d) Beyond the imagination
TR—(a)

31 ‘Busy’ (STH!, FYN[A, HIRIURRIV, SR, HRIW,
R, HT H S gaTT) & fadrieid v ‘Idle’ (31U,
arerfl, IER, W@rell, eer, Mikpa, e Bl e
faei o ¥ -

Inert, Lethargic, Torpid

Idioms/Phrases "To play with fire" & a1y & - To
act in a way that is not sensible and take dangerous
risks; to do something dangerouse or risky; take part

in dangerous undertaking; take foolish risks, I ‘3R
SECCRIN
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34. Identify the CORRECTLY spelt word.

(a) Prejudise (b) Indipendent
(c) Special (d) Disastreus
FAR—(c)

o et o wreg faded (c) ‘Special’ (e, T,
QTATIIRYY, ST, W) F I+ Yg Bl 3 el
(FTTd g aTet) <t Y[g I SR B

Prejudice - BT, YaTIg, YAEmRoT, GeTaTd

Independent - X1, ¥aTaerdl, Fwer, srefaR
Disastrous - UeRieR, 3T, fATTedr), e,

Aaeql, guiagel, §wEg

35. Choose the correct synonym of the given word
from the options given below.

UNITE

(a) Part (b) Disconnect

(c) Divide (d) Join
SuR—(d)

91 ' Unite’ (STreH1, fAferd &)1, P BF1, Th HRA1)
B TR wIg * Join” (FeTHT, Ag<h =T, g B,
ST BH1) Bl 379 93T g ¥ - Unify, Connect, Con-

join

36. In the following question, the given sentence
has four parts marked P, Q, R and S. Choose
the part of sentence with the error and mark
as your answer. If there is no error, mark ‘No
error (S)’ as your answer.

The Government will launch (P)/ an pension
scheme on Friday (Q)/ for senior citizens.(R)/
No error (S)

(@P ®Q
(©R (@S
IR—(b)

araarer (Q) Ffeye Bl I&l U= Article 'an' & RIF U ‘a’
%1 7T Sfd ®l 9f% 9 ‘pension’ T& Consonant
(TR) ¥ URY 2 ve B 3/ Frowd: $9% 9 ‘an’
ORI ‘a2’ BT TANT @RI B

37. Choose the correct synonym of the given word
from the options given below.

OBJECT

(a) Oppose (b) Approve

(c) Praise (d)Aid
TR—(a)

¥ ' Object’ (A%, Sed, AW, TRASH, faRy &=,
Tfare 1, SMURT SSHI, VAR HRAL, A1) Bl

gafaare) o6 ‘Oppose’ (11, dTEN ST, TR
R, faeg BIFT) Bl 899 UATY ¥ ¥ - Disapprove,

Disagree, Dissent

38. Choose the best word to complete the following

sentence.
Ramya is suffering ............. fever.
(a) With (b) Though
(c) Through (d) From
SIR—(d)
b w1 § Preposition 'from' &1 TN 3T B 1
I A9 B -
Ramya is suffering from fever.

39. Choose from the four options, the word that
best defines/substitutes the given phrase.
“The study of the societies and peoples of the

past”

(a) Etymology (b) Astrology

(c) Archaeology (d) Philosophy
SIR—(¢)

The study of the societies and peoples of the past’ is
known as archaeology 1= &1 &1 ATqd HHLT: B~
Etymology - 35 - IR

Astrology - SO, e fden

Philosophy - SeFRIR=

40. Choose the MISSPELT word.

(a) Knowlege (b) Address
(c) Believe (d) Calendar
JFIR—(a)

ol fadeal # wrea-fadwed (a) ‘knowlege’ @1
AMYE Bl TS Yg I BN - ‘knowledge’ (ST,
SR

41. Choose the correct antonym of the given word
from the options given below.

ABOLISH

(a) Cancel (b) Destroy

(c) Continue (d) Eradicate
SHR—(c)

91 * Abolish’ (AT HRAT, 3 FHRA1, SATRd BRAT,
I BT, et <) 1 fausiaeie ores ‘ Continue’
(PTG, SIRY g1, o+ ) Bl 3 faem oreg B
- Establish, Institute

42. The following sentence is divided into four
parts (P, Q, R and S). Rearrange it in the

C))



proper sequence in order to make a meaningful
sentence.
P. Sanjay had to put
Q. So brightly that
R. On his sun-glasses
S. The sun was shining
() RQPS
(b) PQRS
(c)QPRS
(d) SQPR
SIR—(d)
RN S FHH-AIRATI Bl JAiaRerd a1 uR 3pfyet
@ SQPR UT BT -
S : The sun was shining
Q : So brightly that
P : Sanjay had to put

R : on his sun glasses

43. The following sentence is divided into four
parts (P, Q, R and S). Rearrange it in the proper
sequence in order to make a meaningful
sentence.

P. Her work while
Q. Ram assured Sumitra
R. She was on leave
S. That he would look after
(a) QSPR
(b) SQPR
(c)RQPS
(d)RSQP
TR—(a)

RN & FHH-AIRATI Bl JFiaRerd a1 uv 3pfyef
@ QSPR U BT

Q : Ram assured Sumitra

S : that he would look after

P : her work while

R : she was on leave.

44. Choose the correct alternative which will
improve the part of the sentence given in
quotes.

Kumar’s father “fell very proud” that his son
had won the match.
(a) Feel very proudly
(b) Felt very proud
(c) Feel very pride
(d) Felt very proudly
JR—(b)

45. Choose the option which best expresses the
meaning of the idiom/phrase given below:
“A piece of cake”
(a) Asslice of cake
(b) A task that is very easy to do
(¢) A mild punishment
(d) To avoid a dispute with someone
FR—(b)

Idioms/Phrases "A piece of cake" & AT T - "A
task that is very easy to do; a very easy task or ac-
complishment; something easily accomplised; I
I "

Directions (Q. No. 46-50): Read the following
passage carefully and answer the questions given
below.

Henry Ford is famous for making cars easier for
most people to buy. He did this by producing the
cars using an assembly line. Henry Ford was born
in 1863 in Michigan. He had 4 siblings, and his
family owned a farm. He worked on the farm when
he was young, but he soon discovered that he loved
taking things apart to see how they worked, then
putting them back together again. He worked on
watches a lot, and ended up helping many people fix
their watches. In 1879, when he was 16 years old,
he moved to Detroit to start working with machines,
though he did come home and work on the farm a
little, too.

Ford got married to Clara Bryant in 1888, and
worked on a sawmill. He eventually became an
engineer. Ford worked for the Edison
Illuminating Company and even got to meet
Thomas Edison! Edison encouraged him to keep
working on his plans for his horseless carriage,
powered by a motor. Ford’s gasoline powered
horseless carriage was called the Quadricycle.
Henry Ford died in 1947, but his company is still
around and making cars today.

46. 'What was the age of Henry Ford when he died?

(a)82 (b) 83
(c)84 (d) 87
FAR—(c)

arFg H wgh arare * fell very proud " % oIF TR felt
very proud’ &1 T I Bl o1 YE a9T BRI -
kumar's father "felt very proud" that his son had won
the match

TG Yo & SURTA 91 Bl & fb Henry Ford &1 9
84 a9 & araven H gs, RS S o1 a9 1863 H qen
ITH GG q¥ 1947 § g8l 31: fAdwed (c) 84 99 el AR
H

(6)



47. Which of the following works did Henry Ford
do?
(a) Worked in farm
(b) Worked on watches
(c) Worked on a sawmill
(d) All of these
JR—(d)

Y YS9 & SURTT oG @il © fb Henry Ford 9
PHHERY, gf$dl IR Td das! dRA $ BREM, (saw-
mill) anfe e R i fanl era: fawen (d) “All of
these’ W&l SN 2

48. How many siblings did Henry Ford have?
@1
(b)2
©3
(d)4
SIR—(d)

G Y3+ & SURTA S BT ® f& Henry Ford Gt 4
AT$-a8 (sibling) A ara: faebed (d) 4’ e TR B

49. Henry Ford was born in-
(a) Michigan
(b) Oklahoma
(c) California
(d) Florida
TR—(a)

QIGTeT UG & SURIA S 1T & f& Henry Ford &1 5=
“fRFE" (Michigan) -T¥& UM TR g1 A1l 3
fad®ea (a) ‘Michigan’ &l SR

50. Ford's gasoline powered horseless carriage was
called the................. .
(a) Quadricycle
(b) Bicycle
(c) Motor cycle
(d) None of these
TR—(a)

SR USd b SWRIA WA Bl § & "M dsnHe
(scientist) Thomas Edison RT Wica1f2d (encourage)
F TR Henry Ford 3 & Gasoline powered horseless
carriage "Quadricycle" @1 FioT fhanl o1a: fawey (a)
"Quadricycle" \g! SR 3

Gus-C (MMM 3ITTH)
51. W1 I 9RR 9y Fefofda 3§ 3 PR e 477

(a) #E TR (b) T
(c) FERTSE (d) dfrerrg
SR—(b)

P 15T AR qi BT AT Seted o § sy 7<)
TR fHa1 AT B 39 91 B B.R.TH. giel W) Hgl S
Bl 9 91 B i vw Sh. fagdvaNan gy o T o,
S a 1932 3 R gall

52. 400 Hicx s d RAE Qd o WUl T©b S

el Ugell MR Afgen dF §?

(a) 1.8 3w (b) FHASINT g

(c) g e (d) i 1Y ST
FIR—(b)

T4 R Qerelic FHerlid WY 98 Tgell Wk i
off, R8IM 400 Hiex s ¥ RIS wall & Wi &
ST I8 UGH So SHIh RIS 19 H ST o1l S
400 Hiex 0 B W IR H 57.3 Ao B 997 fora el

53. f=foRea 3 & S 2u S¥s Y@ g i
3??
(a) IR 3MR wifRa
(b) R 3R IHIRA
(c) T IR T
(d) I IR ST
TTR—(b)

T VT R 3R JHMIARAT & #e fawror a=ed gl
STafds HRA 3R UIfhae & Aed SRR {1 Bl
etz Yefaers Y@ gRT e Siar Bl 9Rd vd 99 5
T fAHTS NHIg @1 gRT a0 KT U4 ST & Ael

fwrom Fefete Y grT e Smar
54. W dgae, Sme g, 2017 § Ru= g o,
() FIGIPR (ONERITE]
(c) TP (d) Racrsy
JIR—(a)

e AR e Jarg, 2017 3 e[ 81 T, 98 U6
URYg PR (Cartoonist) Al AECHHR T fIsrg
AgaAdR TP I3 4TS

55, forrr i aed Red” R owe g o
T R?

(a) STAYBTRT FRTIOT

(b) sfHws Tesi

)



(c) STATER e g% (d) T SR

FAR—(c)

R 3% dos RS’ U, SIaTeRdld "g® gRI
foredt 718 graa Bl

56. g ey QRS wNs o 3 R 9 W
B R 6 M ?

(a) PN (b) T
(c)dmex (d) STEMIR
FAR—(c)

He1 URITS 2Ieh A1eR A S TSy ot R b ol
TR R ford) 718 SMeraen ‘e Bl

57. ffafa # J &9 Ao A Fva ReeR T8
I B ?
(a) wrifey
(ONIEE

AR—(¢)

(b) GIRCACEIE]
(d) FETF-TTH

A9el &R FferRaa SifmT § ver fawan S
- fafrea & ez o

- Ny & &=z |

- R § A |

- A & &3 |

- Tifa & &= A

- 1o & & A

58. WRd ¥ Y WR WX IEE Raw’ $9 9w
I 3 ?
(a) 23 Wrd
(c) 30 SFIaRT

FAR—(¢)

YRT | R R W) 981G fad”” 30 et a1 w1

ST gl

(b) 21 ST
(d) 19 TR

60. UNESCO H....ccceueeee.. P ARG $ Tgol GRIgY UGN
P ©u A Bif¥q e 2?
(a) DIt (b) IRTURA
(c) SR (d) AT
JR—(d)

UNESCO ¥ 3gHEETE WeY B WIRd & Ugal ERIEY

N & wU § gftd fHar
61. ¥Rd ¥ fasm AR M 1 adw= w50 o= §?
(a) THT SATASHY (b) TR e
(c) <. g¥aeH (d) 579 A BIS 7S
FAR—(¢)

IRd # ‘fagr gd drenfire qen gedt fagm w5 S
gYae B

62. Hacl AfgN BHANRA gIRT Haferd fan S aren
WIRA $1 Igell Yol WReH FAfafa 3 A B

??

(a) 9t (b) IR

ORI (d) B Rrareht e
FAR—(c)

JaTs, 2017 # Has Rt Rerd w81 verd (Central Rail-
way) @ AT (Matunga) ¥ I &I Ugall Afgel
FaTferd YeTd T 941l 59 Vold eI R e o
IHR GReT, fede i qer fewe gfd T woa a4l fawm
P AT Ud 1 AR FHARAT gRT fHan S gl
Afgerel gRT Harfera foar sar

63. . ISEX VM@ ............ B UgA T

(a) AR (b) FcH
(c) eI (d) FERTE
FAR—(c)
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